Adding Integers (A)

Name: Date: Score:
Calculate each sum.

84 +31 = —95+83 =
—96 + 65 = 96 + (—78) =
—95 + (=79) = —-13+11 =
—87 + (—79) = 88 + (—97) =

40 + (=71) = —94 + 66 =
—87+ 75 = =73 + (=74) =
—75 4+ 58 = 72 + (—82) =

87 + (—99) = 91 + (=73) =
—93 + 80 = 15+ 72 =

-3 4+ 93 = -9 + 93 =

80 + (—74) = —25 + (—80) =
—84 + (—89) = —88 + 85 =

97 + (—97) =
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Adding Integers (A) Answers

Name: Date:

Calculate each sum.

84 +31 = 115 =95+ 83
—96 +65 = —31 96+ (—78)
—95 + (=79) = —174 —13 + 11
—87 + (=79) = —166 88 + (=97)

40 + (=71) = —31 =94 + 66
—-87+75 = —-12 =73+ (-74)
—75+58 = —17 72 + (—82)

87 + (—99) = —12 91 + (=73)
—93 + 80 = —13 15 + 72

—3 + 93 = 90 -9 + 93

80 + (—74) = 6 —25+ (—80)

—84 + (—89) = —173 —88 + 85
97 + (—97) = 0

Score:

—147
~10
18
87
84
~105
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